L’ Arrondissement (I)
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L’ Arrondissement (I) Solutions

51,011
51,000

980,687
981,000

805,206
805,000

497,576
498,000

Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

8,322 7,338 9,099
8,000 7,000 9,000
1,268 5,094 9,706
1,000 5,000 10,000
6,490 10,745 10,462
6,000 11,000 10,000
18,932 98,439 72,992
19,000 98.000 73.000
29,832 37,978 31,558
30,000 38.000 32,000
964,045 569,301 450,904
964, 000 569,000 451,000
133,354 927,596 142,599
133,000 928,000 143,000
874,181 3,866,652 3,222,923
874,000 3,867,000 3,223,000
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